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B E&E TEHEER - FEEMR RiE  FEER  FEER RiE  FEER  FEER

(A)  (mls) (V) (Ohm) (m/s) (V) (Ohm) (m/s) (V) (Ohm)
13 | 15.984 6.3936 16 | 17615 6.4055 13 19.3 6.4333
1.8 | 15.963 6.3852 23 | 17.567 6.3880 2 19.243 6.4143
250 | 23 | 15.931 6.3724 275 | 33 | 17.527 6.3735 3.00 @ 26 19.2 6.4000
34 | 15.898 6.3592 3.7 | 17.505 6.3655 34 | 19.151 6.3837

4.3 15.875 6.3500 4.3 17.487 6.3589 4 19.123 6.3743
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BEEE B/ ZIEA0.1 m/s, BEEFRFETER 0.029 m/s
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(A)
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0.00152554
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B HAE THEE BEAS

(A (mis) (V) FREEE
1.6 17.615 |0.00099835
2.3 17.567 10.00071812

2.75 3.3 17.527 10.00086722
3.7 17.505 ]0.00099420
4.3 17.487 10.00181317
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SARRAKER 2 BZEL

FHERE (V) F#ErE (Ohm) AR HEE (m/s)

2.50 15.899 6.3596 3.2478

2.75 17.532 6.3753 3.0398

ERIE 2 BIER{E:3.0181 m/s
3.00 19.185 6.3950 2.7666 EERE 2.9 m/s

REBDL:4.07%
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FHERE (V) F#ErE (Ohm) AR HEE (m/s)

2.50 15.963 6.3852 1.6835

2.75 17.626 6.4095 1.4822

ERIE 2 BIUR{E:1.5672 m/s
3.00 19.286 6.4287 1.5360 BLEREM 1.5 m/s

REBDLE:4.48%



1R ftb h L oz LR




1R ftb h L oz LR

FHERE (V) F#ErE (Ohm) AR HEE (m/s)

2.50 15.931 6.3724 2.3274

2.75 17.567 6.3880 2.3184

ERIE 2 BIR{E:2.3260 m/s
3.00 19.214 6.4047 2.3322 ELERE: 2.5 m/s

REB DL -6.96%
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https://www.tecpel.com.tw/ou/DM/AVM-713 anemometer dm tw.pdf

https://www.iypt.org/problems/problems-for-the-34th-iypt-2021/

https://www.alloywire.com/alloys/80-20-ni-cr-resistance-wire/

HEEBEARKRIR
- https://industrial-meters.com/products/dt-8880-hot-wire-thermo-anemom
eter-air-flow-velocity-meter-with-usb-interface

ZEEE R %R : https://education.nationalgeographic.org/resource/wind/
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https://www.alloywire.com/alloys/80-20-ni-cr-resistance-wire/
https://industrial-meters.com/products/dt-8880-hot-wire-thermo-anemometer-air-flow-velocity-meter-with-usb-interface
https://industrial-meters.com/products/dt-8880-hot-wire-thermo-anemometer-air-flow-velocity-meter-with-usb-interface
https://education.nationalgeographic.org/resource/wind/

